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PART-A (F - 9MH)
For New Course

Q. No. 1 carries 1 mark each (any four)........cvvrrinnn 134 = 4
Q. No. 2 carries 2 marks eacl (any five) .......cccveeresserees 2¥5 = 10
Q. No. 3 carries 3 marks eacl (any tw0) ........cccouwrrrssvennnnn 3X2. = 6
Q. No. 4 carries 6 marks each (any £w0)......ccov.eivsrvesssnenns 6X2.= 12
Q. No. 5 carries 8 marks eacl (any one) ...........ivcewrrn: 81 =8

Total = 40

PART-B (4 - 9gx) :

For New Course

Q. No. 6 carries 1 mark eacl (ny four) .........coecerunes 1¥4 = 4
Q. No. 7 carries 2 marks each (any five) .......coovvseevsnnens 25 = 10
Q. No. 8 carries 3 marks each (Any £00)....covuwcveeerevivininenns 3X2 = 6
Q. No. 9 carries 6 marks each (AnY H00) ......occvvvvvvmsiveenene. 6x2 =12
Q. No. 10 carries 8 marks eacl (AnY ONE) .....cooureuriversnsennrss 8x1 =

PART-C (o - =12*)
For Old Course (in lieu of Project Works)

Q. No. 11 carries 5 marks each (any four) ... 5x4 =20
Total = 20
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PART-A [/ -9

Answer any four of the following questions : - 1x4=4
were WAl eitaRa R sifdbrg ©ea frat ¢
{)f What is intermediate good ?
S RSl v 3 & qete
(}0 If MPS =1, what is the value of MPC ?
I MPS =1 2, MPC 3 W7 & 3°9?
(i) Primary Deficit = Fiscal Deficit - : (Fill in the blank)
AR Wi = e wr - ! (4T 3% 739 )

Which one of the following is not a quantitative credit control
measure of the central bank ?
TR (D (FUR @Y ARNRQSS A fFazd ~afs 7za2
(a) Bank rate
(R [
(b) Open market operation
CIeT Tt AfeE
(c) Variable reserve ratio
ST HeafFo e Tgeire
ﬁ)/ Direct control
ere famiaet

Write one merit of flexible exchange rate.

siaeTaie RN 2= @by Re Bl

What is GDP deflator ?
GDP 363 2

Answer any five of the following questions : 2x5=10

©ee SNRAIRT fcrea A9 Oes faa e

%
(1)

(iii)

(i)

Differentiate between capital expenditure and revenue expendlture
T T E qER JIE WG AL 72 |

What are the components of high-powered money ?

THFASITR JUE CoAmPRE & &2

What are the transactions that are included in the capital accounf

of balance of payments ?
ﬂﬁmwwaﬁﬁfiwrﬁsﬁsﬁmm&m?

Define personal income and personal disposable income.
Jfesre o7 WF Jf@re AN SRE e &l |
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(v)

(vi)

(vii)

TR

As a result of increase in investment by Rs. 125 crores, national
income mcrecases by 500 crores. Calculate the value of the
multiplier.

ﬁ‘fﬂ Wi
Distinguish between stock and flow.
TGS IF AAIZE e A vyl |

Write any two implications of revenue deficit.

IR QI Rgear xby eoia faa |

Answer any two of the following questions : - 3x2=6

ot [l eERR e w19 T firl

(i),

(t7)

(iti)

1z,

Write any three limitations of barter system.

RIS d R oo wpjRal S 1 |

What is balance of payments deficit ? Write two causes of balance
of payments deficit.

AR o 9t [Fe AAReiae swoR 1T 757 F1Rd S 34|

Write a short note on :
Autonomous and Induced Investment.

5y (Ol forall ¢
JoF W Heee [

What is a government budget? What are the components of
government budget ?

5IFIR] AT 2 IR ACHHS SAMPINE & 2

Answer any two of the following : 6x2=12
Ood T [ gh1e Ul Tl ¢

(1)

Discuss the motives of demand for money ? What is liquidity trap ?
: S5+1=6

Ui SIfEwR SfSHRPTE Sicabal 39| oikey W 52

Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6

SISTH S Sl 4l W ARRSU0! BT WAL 3| O SUR FS Jeiq

TS I GO TesAmA st 341 |
(in Rupees crore)

(@ Sare)
(i) Mixed income of self-employed 400

FRre weee fifEe w7



(in Rupees crore)

(=5 Too)
(i) Compensation of employces 500
TN firdl oo
(i11) Net factor income from abroad (~20)
o s @ fFwb o
(iv) Net Indirect Taxes (@b ™ 39) 100
(v) Consumption of fixed capital 120
EsRGioivE b
(vi) Profits (&f1®) 350
(vi) Rent  (i&l) 100
(viii) Interest (3W) 150

(ijf Discuss the functions of commercial bank.
e (e TR SETa w4 |

(iv) Define aggregate demand and aggregate supply. Complete the
following table and determine the equilibrium level of income :

2+4=6

qm@¢sﬁﬁrwm:wm@¢rxmmaﬂ&mf%mlﬁw-ﬁmtw%w¢zTfﬁﬁ

Sl SEwd [T w4t ¢

Aggregate Consumption Savings Investment Aggregate
Supply Demand
Afe et Toretat Ay Rt Al sifzm
(AS) (C) (S) M (AD)

900 780 40
800 700 : 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40
200 220 40
100 140 40
5. Answer any one of the following : ‘ 8x1=8

Ooq NS el @brg Bes g
(i) What is fiscal policy ? Discuss the impact of changes in government

expenditure and changes in taxes on equilibrium income.
2+3+3=8

ISR T F 2 SN WL 89FS 5IBIK! YT AR W% 397 2[{qS1
2old b 411
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(iv)

(111)

Explain the determination of exchange rate under flexible exchange

_ rate system.

oiffedm e fAfrm =14 ags R ga fdfad o @41
Write short notes on : 4+4=8
59 OO o e
(a) Demonetisation
et
(b)  Fiscal Responsibility and Budget Management Act, 2003
IASCIITR WG A F AE0 ARGEF ©iEd, 2003

PART-B / 4-9*

ﬁf Answer any four of the following questions : 1x4=4
O AR R sifabrT $es fudl 8

(i
®
(i)
(iv)
Ve

ot

(vi)

What is underdeveloped economy ?

e wdHifs e & et

In which year World Trade Organisation (WTO) was formed ?
R fdey A7 (WTO) (IR 57 1o C2fwei 2

Write the full form of SHG.

SHG 3 7= el ferail |

Write one objective of NITI Aayog.
NITI SR 957 o=y forall |

Golden revolution was related to —

(a) fish production

(b) horticulture production

(c) milk production

(d) agriculture production (Choose the correct option)
CIET Rk afds wife —

(@) VT TeoAWAS TS

(b) TRy TeAAT (TS

(c)] % Besmas (ICo .

(d) IR BeAMA GITS (5% o5 [519 1)
Define privatisation.

JfGetesaa i@l foial |

7. Answer any five of the following questions : 2x5=10
©eid 2ERA Rzt Apord T firdl ¢

Mention fwo non-institutional sources of rural credit.

(i)
l AN Y 7 SIS e Srad 4|
34T ECON [S] Centd.
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(5& Write two long-term goals of Five Year Plans of India.
C Tlaea swaila ofaswar 5o didgm) @ A

i) Mention two types of unemployment prevalent in the agriculture
sector of India.

Tlaed FEAeT oGS 72 AFaa faegat T TeEd 4|

(%r) What is the importance of green revolution in the Indian
agriculture ?

TREF FALET T e a7y f6r
{u)/' Write two positive effects of LPG policies in the Indian economy.
TRe wdifes LPG Tifea 7o @i e &4t |
(% Write two merits of globalisation.
(IFFRETR 70 R4 Trad F41 |
(vii) Mention two objectives of disinvestment.
W 751 Sy SraEd 41 |
8. Answer any two of the following questions : 3x2=6
(i)  Write a note on Industrial Policy Resolution, 1956.
v Tl qife @%@, 1956 9 RA@ @it G 79

(i) Briefly discuss any one serious environmental problem India is
facing at present time.

S(F A = |

(i) Discuss the composition of India’s foreign trade on the eve of
independence.

FETOR AFILO0 SREIIR (@M AV sloa [RE@ WD 541 |

/((z/}‘ Explain the role and importance of education in human capital
formation.

T oA SRS RrRR Shi W oy 399 34|

f Answer any two of the following questions : 6x2=12
ToR ARAEa freiear gorq Ged g
(i)  Write a comparative note for India, China and Pakistan on the basis

of
(a) Demographic indicators
(b) Human development indicators "

(a) GRS fuf o
(b) TE THER FCETZA fefee R, SN e AlTERe b geEmes
(G1F AES T4 |

34T ECON [6]
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10.

11.

5

(i) Briefly discuss the challenges India is facing in the context of
employment.
Rt (wieibs SRSTAR YA (zral FHEIPHE by SIEb ) |

(yﬁ What is economic reform ? Explain the need for economic reforms
in India. 1+5=6
SIS HeFR 2 Ol weltafos AeHRa LGRSl ¢ w7

(iv) Outline the common developmental successes and failures of India

and Pakistan. 3+3=6
OIS W AT Tougo swerel wiw [t fao i
Answer any one of the following : 8x1=8

TR [l Gb e e fr 2

(i) ~What do you understand by agriculture marketing system ?

/ Discuss government measures to improve agriculture marketing
system in India. 2+6=8

R TR 9T I T @2 oo FR @R [T TFe IRAA 247 7
5N 2MCFPTIZ. Sl 1 |
(i) Analyse the concept of sustainable development. Also discuss the

strategies for sustainable development. _ 4+4=8
T OIS QIRANCE Resmd 9 | F9ICe TR THTER (SR SIS
411 . -

PART-C / 2-wicst
( For Old Course Students in lieu of Project Works)

Answer any four of the following questions : 5x4=20
©oR et sifaor e Tl faal

(i) Write a critical note on public debt.
vaaial 4o [acy @fo AN aes G fori |

(ii) Discuss the sources of demand for foreign currency.
@RS @R SRR SRR Wbl 34 |

(i) Can GDP be used as an index of country’s welfare ? Justify your
answer.

GDP ¥ @47 (7 TR 5o 91 R ARG 2 (SR T& (0w I
SO |

(iv) What is human capital ? Discuss the sources of human capital.
TR TE4 2 TR oA 91077 SOPRZ AT 4 |

(v) Briefly write about India as a knowledge economy.
i STl Zpitel eRedds A s @

(vi) Discuss the circular flow of national income in a simple economy.

G2 79 SR T G 2[R A 4|

X

~
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